

Additional Funding Request

Submitted: **05/13/22**

NY067	CSS 321 WO 17204								
Description of Repairs	Materials and Labor to remove the 3 wall packs that were not knocked down and install 5 new wall packs, then check for proper operation.								
Original SC Investigative Diagnosis	\$160								
Diagnosis: Initial Work Order	Repair emergency lights in butler building								
Explanation of Additional Costs for Repairs	N/A								
Additional Material Cost to Perform Repairs	<p>Materials: \$ 371.85</p> <table border="1" style="width: 100%; border-collapse: collapse;"> <thead> <tr> <th style="text-align: left; padding: 2px;">ITEM</th><th style="text-align: left; padding: 2px;">QUANTITY</th><th style="text-align: left; padding: 2px;">UNIT PRICE</th><th style="text-align: left; padding: 2px;">TOTAL</th></tr> </thead> <tbody> <tr> <td style="text-align: left; padding: 2px;">Materials</td><td style="text-align: left; padding: 2px;">5</td><td style="text-align: left; padding: 2px;">74.37</td><td style="text-align: left; padding: 2px;">371.85</td></tr> </tbody> </table>	ITEM	QUANTITY	UNIT PRICE	TOTAL	Materials	5	74.37	371.85
ITEM	QUANTITY	UNIT PRICE	TOTAL						
Materials	5	74.37	371.85						
Additional Labor Cost to Perform Repairs	<p>Labor: \$640 8 hours each/ \$80.00</p>								
Total Cost of Repair	\$1171.85								



WORK ESTIMATE

CSS #:

321

Work Order #:

17204

Emergency

Urgent

Routine

X

Company Name:	Tidewater, Inc.	Facility ID:	NY067
Contractor POC:	Adam Colopy		
Telephone No:	740-819-6207	Building/Location; (e.g., Classroom/Room #)	
E-Mail Address:	adam.colopy@tideh2o.net		
Assigned Technician(s):	Patrick Brown		

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and Materials to remove the 3 wall packs that were not knocked down and install 5 new wall packs, then check for proper operation.

LABOR/MATERIAL		MATERIAL/SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Labor			8	\$640.00
Luma Pro Emergency Lights 5.4 watt	5	\$74.37		\$371.85
				\$0.00
Diagnostic Labor			2	\$160.00
SUB-TOTAL COSTS:		Materials Total	\$371.85	Labor \$800.00
		TOTAL		\$1,171.85



Cart

Item	Quantity	Total Price	Item Availability
 LUMAPRO Emergency Light: Incandescent, Damp Location Rated, 5.4 W Lamp Watt, 120/277V AC, Surface, White Item #40CP76 Your Price: \$58.10	5	\$290.50	Expected to arrive Thu. May 12 using standard ground shipping (additional shipping options available at Checkout.)

This item cannot be shipped to CA. This item can only be sent via ground shipping.

 Chat with an Agent



